A W5y 5 06 [A]

FAHEL 2 JF FRIMI-AC-BC ] FE[ I K4 [ ]

W DB % B4 X o
(1) y=(3x-4)y°

(2) y=log(3x—4)

(10) y=xsin2x
(3) y= e3x—4

(4) y=sin(3x—4)

11) y= sin 3x
C0S2X

(5) y=cos(3x—4)

. X
6) y=Sin?t=
® vy n

(12) y=e*cos3x

(13) y=log(e* +e™*
(7) y:Tan‘lg y=log(e" +e™)

(14) y — esin2x

(8) y=xlogx
(15) 'y = (sin2x + cos3x)’
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(1) y=(3x-4)° X
y'=5(3x—4)" x3=15(3x - 4)" , 2P xx—e? x1
==
(2) y=log(3x—4) (2x-1e”

N
3x-4

(3) y= eSx—4
y! _ 3e3x—4

(4) y=sin(3x—4)
y'=3cos(3x—4)

(5) y=cos(3x—4)

y' =-3sin(3x —4)
6) y=sin'X
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7) y=Tan'Z
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(8 y=xlogx

y’:1><logx+x><E
X

=1+logx
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(10) y=xsin2x
y' =1x5in2X + X x 2€0S 2X

=Sin 2X + 2XC0S 2X

11) y= sin 3x
C0S2X

, _ 3C0S3X % COS2X —Sin3x x (~2sin 2x)

cos’ 2x

_3C083XC0S 2X + 2sin 3xsin 2x
cos’ 2x

(12) y=e"*cos3x
y' = 2e” x c0s3x + °* x (~3sin 3x)

=e?(2c0s3x — 3sin3x)

(13) y=log(e* +e™)

, e —e”
ef +e™"

(14) y — esian

y'=2c0s2Xxxe

sin2x

=2e""%* cos 2x

(15) 'y = (sin 2x + cos3x)’
y' =2(sin 2x + cos 3x)(2c0s 2x — 3sin 3x)
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